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Building Standards in Educational and Professional Testing

SAMPLE PAPER DOCTORS AND PHARMACISTS
IQ

1. The number missing in the series 2, 6, 12, 20, ?, 42, 56, 72 is:

A. 24

B. 30

C. 36

D. 38

E. 40

2. Luqman is 67 years old. His son Rameez is 29 years old. In how many years will Rameez be exactly half his father’s age?

A. 2

B. 5

C. 7

D. 9

E. 12

3. If BOOK = 43 and PEN = 35, COPY =?

A. 48

B. 60

C. 59

D. 79

VERBAL REASONING
Complete the sentences by choosing the most appropriate word, from the given lettered choices (A to D) below each.

4. Earthquakes cause vibrations to pass _____ around the earth in wave form.

A. through

B. through the

C. through an

D. through and

5. Sensory cells _______ impulses by producing electrical signals.

A. responding

B. to respond

C. respond to

D. respond

Each question below consists of a related pair of words, followed by five lettered pairs of words. Select the lettered pair that best expresses a relationship similar to that expressed in the original pair. 

6. MAN: ROBOT::

A. original: counterfeit

B. true: sham

C. brain: computer

D. object: image

Choose the lettered word or phrase that is most nearly opposite in meaning to the word in capital letters.

7. COVETOUS:

A. Greedy

B. sympathetic

C. generous

D. niggardly

Choose the word most similar in meaning to the capitalized ones.

8. BATTERY:
A. ambush

B. corner

C. precarious

D. group

E. delirium

ANALYTICAL REASONING
Questions 9-11
In a telecommunications-cable assembly plant, cables are assembled by twisting plastic-coated wires together. There are wires of exactly six different solid colors red, yellow, violet, green, white, and black. Wires must be assembled into single cables according to the following rules:

Each cable must contain at least three wires and wires of at least three different colors.

At most two wires in a single cable can be black.

At most two wires in a single cable can be white.

There can be at most one wire of each of the other colors in a single cable.

If one wire is red, then one wire must be yellow.

If one wire is violet, then no wire can be green.

9. Which of the following could be the-complete set of wires in an acceptable cable?

A. A green wire, a white wire, and a violet wire

B. A violet wire, a black wire, and a white wire

C. A red wire, a black wire, and a green wire

D. A yellow wire and exactly two black wires

E. Exactly two black wires and exactly two white wires

10. The maximum number of wires that can be used in an acceptable cable is

A. 8

B. 7

C. 6

D. 5

E. 4

11. If exactly one black wire and exactly one white wire are used in an assembled cable, which of the following must be true?

A. The cable contains no more than five wires

B. The cable contains exactly six wires

C. The cable contains a yellow wire

D. The cable does not contain a red wire

E. The cable does not contain a violet wire

BASIC IT
12. The combination _______ keys are used to select entire document.

A. Shift + A

B. Alt + A

C. Ctrl + A

D. Ctrl + S

E. Ctrl  + F

13. Which menu is used to insert table in Ms Word?

A. File Menu

B. Tool Menu

C. Insert Menu

D. Format Menu

E. Font Menu

14. PDF means:

A. Portable Document Format

B. Portable Delivery Format

C. Portable Document File

D. Portable Delivery File

E. Printable Delivery File

HAJJ RELATED

15. The fundamental pillar of Islam that requires both Physical and financial sacrifice is known as:
A. Fasting
B. Prayer
C. Zakat
D. Hajj

16. Hajar-e-Aswad’s direction is toward:
A. East

B. West

C. North

D. South

17. What is the meaning of Hajj?
A. Charity

B. Fasting

C. Pilgrimage

D. Praying

GENERAL
18. Severe bleeding is a “hurry case.” Which one of the following statements is true?

A. Should the first sterile pad used become blood soaked, immediately remove it and apply another

B. Bleeding can seldom be stopped with direct pressure

C. A tourniquet is almost always required to control serious bleeding

D. Try to avoid direct contact with the victim’s blood by using latex gloves or another barrier

19. A flail chest is where:

A. Several ribs are broken in several places and is floating

B. The lung has collapsed

C. More than one rib is broken

D. The lung has been penetrated

20. Which of the following is NOT a symptom of shock?

A. Restless or irritability

B. Chest or abdominal pain, breathing difficulty

C. Rapid breathing or rapid pulse

D. Strong thirst, nausea, or vomiting

21. You feel a sudden sharp pain in the bottom of your left foot. You look at the bottom of your left shoe and see a tack sticking in your shoe. What type of wound do you probably have?

A. Scrape

B. Avulsion

C. Puncture

D. Bruise

PSYCHOLOGICAL ASSESSMENT
30 MCQS

2 STORY DESCRIPTION

ASSESSMENT WILL BE DONE BY PSYCHOLOGIST ON ABOVE MENTIONED QUESTIONS (30 MCQS + 2 STORIES)

Answer Key
	Q #.
	Right Choice

	1
	B

	2
	D

	3
	C

	4
	D

	5
	C

	6
	C

	7
	C

	8
	D

	9
	B

	10
	B

	11
	A

	12
	C

	13
	C

	14
	A

	15
	D

	16
	D

	17
	C

	18
	D

	19
	A

	20
	B

	21
	C
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